
22.1.21 WORKSHEET A ANSWERS 

                

 red block     blue block      

    0 8 7     1 1 6   

   5 4 43 35    3 3 4 18   

                

 green block     yellow block      

    0 6 9     0 7 8   

   4 2 27 36    6 4 46 48   

                

                

    1 1 6  blue block      

     8 7  red block      

     7 8  yellow block      

   +  6 9  green block      

    3 5 0          

    2 3           

                

   The scales should show 350kg       

                

                

                

                

                

                

 



22.1.21 WORKSHEET B ANSWERS 

                

 red block     blue block      

    0 9 9 5    2 5 1 8  

   5 4 49 47 25   3 7 15 5 24  

                

 green block     yellow block      

    0 9 7 6    0 5 9 6  

   4 3 39 30 24   6 3 35 57 36  

                

                

   2 5 1 8  blue block      

    9 9 5  red block      

    5 9 6  yellow block      

  +  9 7 6  green block      

   5 0 8 5          

   3 2 2           

                

  The scales should show 5,085kg       

                

                

                

                

                

                

 



22.1.21 WORKSHEET C ANSWERS 

                

 red block     blue block      

    0 9 9 5    2 5 1 8  

   5 4 49 47 25   3 7 15 5 24  

                

   2 x 995 = 1,990   1½ x 2,518 = 3,777  

                

                

 green block     yellow block      

    0 9 7 6    0 5 9 6  

   4 3 39 30 24   6 3 35 57 36  

                

   2 x 976 = 1,952   2 x 596 = 1,192  

                

                

   3 7 7 7  1½ blue blocks     

   1 9 9 0  2 x red blocks     

   1 1 9 2  2 x yellow blocks     

  + 1 9 5 2  2 x green blocks     

   8 9 1 1          

   2 3 1           

                

  The scales should show 8,911kg       

                

 


